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ESIEE : 0.82 cd/m?
EEDIERE : 0.22 cd/m2
KIRDIBE : 0.12 cd/m2

20 FEREFDIERE : 0.57 cd/m?

EEWEE : 0.46 cd/m?
EEDYERE : 0.14 cd/m2
KERDFERE : 0.08 cd/m?

20 EREFOIEE : 0.33 cd/m?

EENEE : 0.24 cd/m?
BEDIERE : 0.09 cd/m2
KIRDFIEE : 0.07 cd/m2

20 EREDOFEE : 0.18 cd/m?

ESIEE . 0.13 cd/m?
BEDNERE : 0.08 cd/m2
KIRDFIEE : 0.07 cd/m2

20 EREDOFEE : 0. 11 cd/m?



KR : AZILNSAKSUT, B BE. KR K

20 Ix

EE¥EE - 0.14 cd/m?
BEDIEE : 0.20 cd/m2
KIRDFEE : 0.60 cd/m?

20 FEfREFDIERE : 0.15 cd/m?

10 Ix

EE¥EE - 0.09 cd/m2
BEDFERE : 0. 14 cd/m2
KARDIERE : 0.36 cd/m?

20 EHREOEE : 0.09 cd/m2

=0 EE¥ERE 0.07 cd/m?

vs EEQFERE : 0.10 cd/m2

o KEROIEE : 0.18 od/m?

o 20 ERBOIERE ;- 0.08 cd/m?

= ERMEE :0.07 cd/m?

s EEDIERE - 0.07 cd/m2
KIRDHEE : 0. 10 cd/m?

s 20 ERREFOERE : 0.07 cd/m?
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20 Ix

10 Ix

2.0

B o
S~
[ed/m®]
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EEIEE : 0. 14 cd/m?
BADIERE : 0.23 cd/m2
KIRDFEE : 0. 13 cd/m?

20 EREHFONEE : 0.13 cd/m?

EEWEE : 0.09 cd/m2
BEDYEE - 0.16 cd/m2
KIRDFERE : 0.08 cd/m?

20 ERBFOFEE : 0.08 cd/m?

LE¥EE - 0.07 cd/m?
BEDIERE : 0.09 cd/m2
KIRDFIEE : 0.07 cd/m2

20 EREDOFEE : 0.07 cd/m?

E=VEE - 0.07 cd/m2
BEDIERE : 0.07 cd/m2
KIRDFIEE : 0.07 cd/m2

20 ERREDFERE : 0.07 cd/m?





